TR -~ | ELE
Part —
( FTH T )

( General Arithmetic )

1. W 1A Y, 2 WIST 2200 R, ATHA 13 § & WS, WFTHS T Th OEE ¢ |
(A) 24 vl (B) 27 (©) 25 (D) =0 J S T

Find the divisor, given that the dividend is 2200, remainder is 13 and the divisor is one-third

i
&

3

(B) 27 (C) 25 (D) None of these

,:___‘numbersandP:Q:R=2:3:4andP2+QZ+R2=11600,thenP+Q—R=
(B) 15 (C) 16 (D) 18

(B) 13%1?[./1%. () 25%n°r./ﬁ. (D) 23%14%./@(.

If the time take"’r’f,fby a 170 m long train travelling at a certain speed to cross a 180 m long
stationary train is 15 s, then the speed of the train is

1 1 1 1
27 — — 25— -
(A) 3 m/S,» B (B) 13 5 m/s (©) 3 m/s (D) 23 3 m/s
. 1
4. FE J, A x° - FA % gl AT SR B | By
T
number, then x® — lswill always be greater than or equal to ﬁf‘?
X
1 s 1
(B) 3| x+- (C) X+ D) x*+—
. X X
5. A W 10% B, A FIgI x Ted C. P. %1 o0 % W S. P. I &, I x /0 |
The ratio x by WhICh the C. P. has to be multiplied to set the S. P., if the profit is 10%, then x =
AN 11 10 9
W (1) ® 1 © 1 ® 5
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10.

2] A person save 5m
* time taken to cover the distance at his usual speed is

(A) T8 . (C) 23 D) 26
afg a= ﬂ+J—bJ_§+J_QHc V6 +/4 7, [

ifa=-11+43,b ”2+«/§andc=x/5+x/_,then
(A) b>a>c B) c>a>b (C) a>b>c (D) a>c>b

20%w%lmﬁwﬁmv%ﬁaﬁwwﬁﬁmww 2
(A) 50T . B 25 e () 30Te (D) 45fiFe

covering a certain distance by increasing his speed by 20%. The

(A) 50 min. ) 25 min. (C) 30 min. (D) 45 min.
Ifg n@;@ﬁsﬁm‘a, HoP i g i g

(A) 5 (B) 13

C) I (A) 3R (BZ-L o (D) AT (A)TW T (B)
If n is a natural number then 92" — 42" is always divisible by

(A) 5 e (B) 13

(C) Both (A) and ( ) (D) Neither (A) nor (B)

xﬁsﬁ%ﬁ%mﬁéﬁ;ﬂ@mﬁ@ﬁ%ﬁ%zoﬁaﬁw | IThT AT AT 7 s
=

’
(A) B 85/0

X bought 5 pencils é

1 1
B) W 42 % () @ 8%% (D) & 42 %

4 and sold 4 of them at ¥ 20. His profit or loss percentage is

1 Ny 1 1
(A) Loss 8—% “i(B) Profit 4~% (C) Profit 81% (D) Loss 4<%
3 6 3 6
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13.

14.

15.
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16.

1 1 1

+ B =
No+11 W1+A13 2023 ++/2025

(A) 35 (B) 0 (C) 20 (D) 21
AR x,y F50%TTE, My, x ¥ %waR| I

L g
If x is 50% mote than y, then y is less than x by %. )
A 662 (B) 331 (©) 25 (D) 50

3 3

(J1375 +J1125) (V1125 -/1375) T __ wengl
( (B) AR (C) wier (D) FH & S Tl

) (\/1 125 — /1 375) isa___ number.

(B) lIrrational (C) Rational (D) None of these

cw e & wafE s g | | |
Ina900m race, ‘A’ beats ‘B’ by 270 m and ‘C’ by 340 m. ‘B’ beats ‘C’ by m in the
race. ind

A 140 (B) 70 (C) 200 (D) 100

X T g B R e C. P. % 60% R Tl ¥ | G AT et N 10% 3 G 98 T
T % W ST ] | e i g1

Atticle at 60% above its C. P. He sold it at profit after 2 successive discounts of

X marked

10% each. The profit percentage is
(A) 29.6% (B) 40% (C) 35.5% (D) 20%
EXE
) — D) 2
© 15 ®
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18.

19.

20.

21.

E[E

o BaT T TS T wreRedl B HE 1 I 11: 97 | 30% WEH T 20% i
as%mwﬁmwﬁ%lmmﬁwwa@ﬁa@ﬁaﬁw e & |

In a class, the ratio’ @f the number of boys to that of girls is 11 : 9, 30% of the boys and 20% of
the girls have passed an examination. The percentage of passed students of the class is

(A) 255 (B) 28.5 (C) 245 (D) 28.5
3 SR TS X T y Bl . . 71
LCM of two co-primes x and y is
X
Ay (B) x+y (€) x-y (D) xy

TRR et § T AT T T o fop.1. /eieT & wa wwr o i 6 R /et B | Ie =

wﬁ—aﬁﬁe‘a%; 2, @ o <t R #, @ A G T wE F AT
3 |

1 1 . 3 .
(A) 15*51% (B) 2Za% (C) 17 (D) 1Z~a%

The speed of a boat in still water is 9 km/hr and the speed of the stream is 6 km/hr. If the

3
(D) 12 hrs.

aﬁa,b,cqédamsa:rmwi%ﬁe@ﬁsaw%%a,bqécwaﬁn@mmsﬁ
Qéb,c@daﬂ?ﬁﬂ@ﬁwmﬁ,?ﬁaz—dzﬂﬁaﬁﬁ: B |
(A) s (B) W (C) Term (D) T | HIg T

If a, b, c and d are: four positive real numbers such that sum of a, b and ¢ is even and the
sum of b, ¢c and dl?;l odd, then a® - d?is necessarily

(A) Prime (B) Even (C) Odd (D) None of these

Pﬁﬂea?rsm‘fwaﬁmasﬁ lsqéssqﬁaﬂaqgma&s% | P! s QT w=d |

163 %lpmaq:ﬁmm@af %32 |
The ratio of the incommes of P and Q is 5 : 4. The ratio of their expenditures is 4 : 3. The savings
of P is more than:that of Q by 16% %. The percentage of his income spent by P is %.
2 2 1 1
51— 52— 53— 54—
(W 513 (B) 523 (C) 533 (D) 543
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23.

24.

25.

E[ AL
¥

26.

@ﬁﬁ%mrrﬁr aaﬁﬁﬁmwwatmﬁgﬂzﬁam% | Y 7 B9 % forg et & Een
S i N

A certain sum becomes 3 times itself in 6 years at a simple interest. The number of years in

which it becomes 9 ‘umes itself is

(A) 22 “(B) 18 (©) 20 (D) 24
aaﬁw“?nmwwﬁmgsﬁﬁm Bef |
(A) I=< (B) 4 (C) 38 (D) O
The number of positi integral solutions of the inequation %i >1is
(A) Infinite (B) 4 (C) 3 (D) O

I o) wEmel aTd bW H. €. 4 TH W §. 400, W a 3 b % & TH H EEE
den A e
The GCD of two numbers a and b is 4 and their LCM is 400. The number of pairs

of aandb are v

(A 4 ®) 1 ©) 2 0 3

I 5 7d P 3t Qo 3rrgall (3t #) 1 S 51 7 &, A AN | 56 % WG STh

If the ratio of the a

(in years) of P and Q, 5 years ago was 5 : 7, then the sum of their

ages 5 years from now is years.

(A) 87 (B) 90 (C) 98 (D) 92

aft a=46-95, b=96+95, c=96+95, d=46+45 W e=V6+5 &, W F= &

A) cd . (® abcde (C) abde D) ab
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28.

29.

30.

-

@ﬁ%ﬁﬂ&ﬁcﬁﬁmmamﬁ@ﬁawﬁ% | 27 T B & e ot i wen

A certain sum becomes’ 3 times itself in 4 years at compound interest. The number of years

,ia

in which it becomes 27 tlmes itself is

(A) 21 A (B) 15 (C) 12 (D) 36

Wﬁp@q@aﬁwﬁrtﬁ ﬁ(ﬁaw%m@%wwww%?
() Fo 7w T (B)
©) & (D) T & s Tl

If p and g are perfect squares, then \/% is always a rational number. Is the statement true ?

(A) Cannotbe said . (B) No
(C) Yes (D) None of these
P, Qy R _
Qﬁb—xc: - a—b;_?ﬁaPerQJFCR EE
q i
i Px yzR thenaP+b Q +c,R=
b-c c-a a-b’
(A) O (B) P+Q+R C) x+y+z (D) a+b+c

e T 3 e T st ok Rrdt o < gor # 10% g A § | AR T AR
O T B B 10%TTH % HAR 3,20,760 F o=l 2, W A I8! I8 HIC B HT A
o |

The cost of a car deprecnates 10% every year over the previous year. If a person sells his car

at a profit of 10% ats 3 20 760, then the price of the car 3 years ago was

S

(A) ¥5,00000 @ ° 13) % 4,00,000 (C) T 4,50,000 (D) ¥ 4,25,000
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(VAT )
( General Knowledge )

(A) asr%rara (B) Hifdex (C) T-EM (D) <R
Who is the wrlter of the book “Arthshashtra” ?
(A) Kalld‘asf_‘r (B) Kautilya (C) Huen-tsang (D) Chandbardai

32, elleReor L1 B
(A) SETEE T REET
(B) A i Irefexeren o1 fove sreferasdr % | aH
(C) ol =R W T
(D) Eﬁaﬂﬁé?ﬁ

The meanlng of Globalisation is

(A) To cqgtgol over industries

(B) Collabbration between national and world economy
(C) Control’on foreign trade

(D) None of these

33. SIRQICH HeETE fopweh e # e g 7

(B) STISHTST TR

(D) WAy YR UeH
! ‘ -
% Who led the Bardoh Satyagrah Movement ?
Freg
(A) Ram Mohan Roy (B) Jay Prakash Narayan
(C) Md. Ali Jinnah (D) Ballabh Bhai Patel
34, UEd U SIS, STERT 8
(A) SIS =Rl & (B) STeT Bl 98+
(C) EﬂTﬁ?ﬁWaﬂa’ﬁ (D) WIISH T =&
The Xylem in. plant are responsible for
(A) Transport of oxygen (B) Transport of water
©) Transport of amino acid (D) Transport of food

01/25- A -11-
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35. ‘g IO T feeeh gt fora R 7
(A) W= S (B) SfF =g wesl
(C) Tferg e &R (D) i g aHa

: 1al:Song ‘Vande-Mataran’, written by
(A) Sany?i"?Pev (B) Bankim Chandra Chatterjee
(C) Ravindra Nath Tagore (D) Sachin Dev Barman
[EXE

36, Bt & & @ s HE R 0

(A) ﬁvrrw (B) hIehT ShIcTl (C) awE (D) feRe

Which of tf;;?b‘ollowing is not a multinational company ?

(A) Reliaf e (B) Coca cola (C) Samsung (D) Nokia
37. fawere 2 e 3w i SRR e o § 7

(A) ¥ (B) Jrrefern (©) Hi (D) ¥is

Wimbledon Trophy is played in which country ?

(A) India. (B) Australia (C) France (D) England
38.

‘ (C) HEHITE (D) TemmTieX
Blood pressure is measured by

(A) Thermometer (B) Barometer (C) Crescograph (D) Sphigmometer

g e T T AT S AH Y ST S g 7
(B) ToremT (C) el (D) eI

39. TR = ﬁq

Which distrigt is known as ‘Rice Bow!” of Bihar ?

(A) Rohtds-" (B) Kishanganj (C) Nalanda (D) Paina
40. ‘Fre TET 1 TR U it AT SR 2

(A) Tl (B) Sele el

() eft g1 (D) refl 7a

(A) Mountain soil (B) Alluvial soil
(C) Yellow-soil (D) Black soil

01/25 - A =12~




W ST 1 Hn R R g 7

FrHaT AR (B) Tsgufe
' (D) gEwEt
EVE ElE
pibE i i ? g
5 Who among the fgwwmg has power to declare National Emergency 7 égfé
(A) Speaker of Lok:Sabha , (B) President
(C) Prime Minister (D) Chief Minister
42, SO g5 7
(A) (B) T (C) dig (D) SR
Currency of Jap N
(A) Yen " (B) Rupee (C) Pound (D) Dollar
43. GDP T I0f w9 1R ?
(A) I = T (B) W sMfes Tewe
(€) iz e (D) &1 | HIg &
What is the full form
(A) Great Double Pact (B) Gross Domestic Product
(C) Grand Development Product (D) None of these

44, Tmfeafea O wHstintces wfis o1 seeor e ?

(A) 3¥h (B) &M (C) =gt (D) dftam
Which out of the wing is an example of non-metallic mineral ?
(A) Mica (B) Gold (C) lron (D) Copper

45, =EU eEN % foe writd: feg TR & gl %1 v fen Smar 7
~ (B) ST T (C) 3T eUYl (D) 3Iuer weft

generally used for face looking ?

(A)

Which type of miric

(A) Plane mirro (B) Concave mirror (C) Convex mirror (D) All the above

01/25 - A -13-
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47.

48.

49.

50.

(A) 20w 1950 (B) 24 ¥ 1950 (O) o6 el 1950 (D) 15 T 1950

When was, lhdian Constitution was implemented ?

, (B) TR (C) BT (D) femg
The capitéf’!f@jf Telangana is
(A) Kawaratti (B) Amravati (C) Hyderabad (D) Dispur
(A) ToisH <™ (B) Tt TimeR T
(C) W MR (D) T SET]

Who wascalied as ‘Deshbandhu’ ?

(A) Chittaranjan Das

(B) Bal Gangadhar Tilak
(D) Rajendra Prasad

*
(B) T

(©) e, (D) TR

Where is Cofbett National Park situated ?

(A) Karnataka (B) Bihar

(C) Uttaﬁéi%i:land (D) Maharashtra

SRR | GEIE § ?

(A) S (B) I

(C) (A)IR(B) T (D) T | I T
EE]
)

(B) Abiotic
(D) None of these

-14-



(B) SI. TH. SRR

(A) AmitShah (B) Dr. S. Jayshankar

(C) Piyush Goyal (D) None of the above
52.
(C) TTReIH
Where is the capiféilibf Meghalaya ?
(A) Shilong ~ (B) Aizole (C) Gangtok

53. Wﬁﬁamw%a & H 3Iuafey 3g fean S @ 2
(B) HIlE (C) Tmmm

(B) Literature (C) Cinema

54, el i gfg frm o & arh St § 2
(A) AR (B) HERITH (C) deeHiex

Which instrumenfisiused to measure the growth of plant ?

(A) Multimeter ; (B) Crescograph (C) Voltmeter

55, e FEIE ATee ey Rordver B3 ?

(A) EMIeT *anfr am (B) dps Y
(D) ¥ & whig T
?"‘i '; .-:
'1,3 Narmada Bachao"“'A’hdolan was held against which of the following ?
=
(A) Damodar Valley Dam (B) Hirakud Dam
(C) Sardar Sarowar Dam (D) None of these

01/25 - A 15

D) 3T | © 15 T&

(D) ¥FhIeT

(D) Imphal

(D) @«

in which field, Dada Saheb Phalke Award is given ?

(D) Sports

(D) HTSshIHIET

(D) Micrometer

[E]E]
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Wmaﬁawﬁawwﬁm%

(A) TS TR (B) ¥R TT GUEHR
(C) <R = TR (D) I TR

£ EEE
The highest Civilian Award of India is g;ﬁ

(A) Gyanpeeth Award (B) Bharat Ratna Award

(C) Veer Chakra (D) Padma Award

57. srausE Torg foew R ntnznsrrm% ?
(A) 22\ (B)- 14 SR (C) 73« (D) 1W%

EE
When is the International Labour’s Day celebrated ?

)

(A) 22 March (B). 14 January (C) 7 April (D) 1 May

55, T 2025 F 10C R 3 SRERI IS Bl AT BI-ET A B ?
A) o sThE (8] T (C) IR (D) s

{CC World Test Champioﬁgﬁip final — 2025 match will be hosted by

(A) South Africa (B) India (C) Australia (D) England

59, mwwmﬁ%mﬁmﬁiﬁaﬁﬁﬁﬁmaﬂﬂﬁ:wm@m% ?

(A) e B SR (©) Herer (D) TS
Which of the following type o medicine is used for treating indigestion ?
(A) Antiseptic (B);”Antibiotic (C) Analgesic (D) Antacid
6. et i & F -y smeliR el & 7
(A) =WrzEm (B)"f"—%ﬁ@ SR (C) S[¢ 3T (D) = I=m
?': Which of the following is ng Eagro based industry ?

(A) Sugar industry (B).. Tobacco industry  (C) Jute industry (D) Leather indusiry

01/25 - A -16-




On which year, partiticli;htof Bengal held ?

(A) 1913 - (B) 1885 (C) 1905 (D) 1906
62. IehIet Sfieif ST - 2028 forw 2w F ST @ 7

(A) ST (B) Hgw Ty SR

(C) s (D) ®ig

In which country, Su

(A) Germany

(C) England

63. WRAd % SU-TTU T & ?
(A) 3T fere
(C) Y gEs

Who is the Vice-Pres
(A) Om Birla

nt of India ?

(C) Jagdip Dhankhar

64.

Where is Kandariya M 1adev Temple situated ?

(A) Ajmer "B) Khajuraho

65. fohe wivral ht it ot Selt Wt rem 3

r Olympic Game — 2028 will be held ?

(B) United States of America

(D) France

(B) TicerepoT Tl
(D) . . g

(B) Mallikarjun Kharge
(D) J. P. Nadda

(€) Tt (D) 3T

(C) Chittorgarh

(A) e " (B) = (©) e (D) e
il 3 Which mineral is called.as mother of industries ?
iy

(A) Manganese (C) Iron (D) Copper
01/25 - A -17-

L IES A

i

(D) Aurangabad



66.

P I
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67.

68.

EEE
B e
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69.

70.

The Reserve Bank of lndia-iiNla‘_zs established in the year

(A) 1935

(C) 1925 (D) 1930

ﬁw%@aﬁéﬁwﬁq—%mﬁgawm% ?

(A) e " (B) B

(C) THTEE (D) SR |

Which of the following allotijbpé’e of carbon is good conductor of electricity ?

mond

(C) Graphite (D) All the above

Why was Non-cooperation ,M:C)i\/ement called off ?

(A) Chitgaon case

(C) Chauri-Chaura incide

ton i

(A) = gfua :
(C) e faram werieERrY

The Ex-officio secretary of Par
(A) Nyay Sachiv

(C) District Education Officer

Eoow

01/25 - A -18-

chayat Samiti is

(B) Due to Kakori case

(D) Jalianwala Bagh massacre

(B) wEE Ty wgrRiepil
(D) T ¥ g T

(B) Block Development Officer

(D) None of these

(C) 1950 — 1955 (D) 1951 —1956



71.

T — [l
Part — il
(T &= )
N ( General Hindi )
EIRISICaE e wm% ?
A) wghfe w4 (B) AR T () T o

72. ﬁwﬁaﬁq—mmw% ?

(A) 3" (B) ISR (C) 3Afaret
73. ﬁr{ﬁﬁq-mww% ?

(A) T e (B) i

©) 7@ (D) =T
74. A SN w1 ww % ?

) R I (B) &g 9HE

o o vt
75. ol w1 Gfy Rrede &

(A) T+ = (B) < + = (C) < + I
76. IS G %%ﬂa% |

(A) e (B) foremy

©) Ty (D) T
77. Wwﬁmwﬁ#mw% ?

(A) weETES (B) =feaar=s

(C) TqgaT=H | (D) STrfcrar=res
78. g@ﬂ&:ﬁ%@aﬁ|

A T B) oo (©) ort

01/25 - A -19-
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80.

81.

FRior 3ree o1 TafEa l
(A Y (B) et
Sy BH-m EAE R 7

(A) @& 9H ™

(C) HHURY ™

82.
A) TS (B) fra
83, ‘TeT W= H f@mE v
@) )
84. T # ®9-91 G0 WS %?
(A) I (B)  F=
85. forar Tisg I T | “
(A) X
() Torrn oy
86. T e I S el I AT ?
(A) 1469%. (B) 1269 %,
O T 1R
(A) T
(C) FER-IM
01/25 - A

(C) TSI

(C) Y&t

(B) ITRE HE

(D) oL |HTH

(C) wrt

(C) g&-

(C) 3TH

(B) WISHT
(D) d&dl

(C) 1369%.

(B) &I g

(D) HRAHATT

(D) T

(D) Hg=n

(D) &R

(D) T

(D) 3TH

(D) 1569%.

EgEl
o
il

‘:
B2

EgE
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s#H{E



89.

90.

91.

92.

93.

94,

95.

(A) S

(C) 3ITHGHI

(A) SmER
(C) TaTaRt

(A) 1830 %. #
(C) 1823%. ®

BTG 8 T 3 e S o 7
(A) TRl
(C) 3raeh

(A) Torlig HAR I

(A) 3TeH

Riftreen @t =1 gey RRa srg@ = @ o ?

(A) gl «(B) T
ST ST T S W” B3 T 7
(A) Rl H(B) s

01/25 - A
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(B) PR TR
(D) Wa

(B) 1825%. §
(D) 1827 . #

(B) A

(D) &1

(B) e feretrerm vt
(D) TR A

(C) ol

(C) TE

(€) faw

[ElsiE
(E2
waiE]

B
e

(D) G

(D) W&

(D) =HHTE



I""w':

fewm (4. 96 B 100 T%): T BT 7T TN W BAFYHH TgHt Tgahedt Te ¥ ol w wel
Repeg T TE R | G
Iﬁ‘l

Gk

TR
% TRives Rrem § TS, TreuR, IS, ST S AT H

et 1 S T T SR Y T B hrei R § | sy & el e 3 Re S

aﬁmﬁwﬂﬁ%m—rﬁﬂﬁwml l&‘l
e

%. W%%mﬁwﬁw%

) whew (B) e W

c) T = (D) B &

o7. Terer sfeme arefis.sht s e H H ST @R ?

(A) TTORS® . (B) 3TeTiches
© wHfeE (D) S
98. wﬁaﬁmﬁ%mﬁmaﬁm%—é’rﬂﬁ% ?
(A) rfere frer (B) g Ren
(C) IRy ﬁm “ (D) =x&=h g
99. mmmﬁmﬁmﬁmﬁ% ?
W T (B) Wr§-wre
(C) UH-USH™ » (D) wTar-far
100. el 3 Wil Rt % et fergr o A R 7 %‘%‘:
w TR ®) W
© wE (D) ST
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